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∫ ∞
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Y1(z) =
∞∑
k=0

rk uk(z), Y2(z) =
∞∑
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√
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+ . . .
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+ . . .
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B − log t
−√

π exp(B) erfc
(√

B − log t
)⎞⎠+ . . . ,

,�*.

������� ����� �
��� �
���
�0 ) )�"� ��
����"


x(t) = 1
C2+

C t

⎛
⎝ 1
(B − log t)1/2

− 1
2

1
(B − log t)3/2

+ 3
4

1
(B − log t)5/2

+ . . .

⎞
⎠+

C4 t2
(
1
4

1
(B − log t)2

− 1
2

1
(B − log t)3

+ 21
16

1
(B − log t)4

+ . . .

)
+ . . .

,��.

&
�������� ,�*. �35������( ����� 6 ��-�� x(t)( �����
� �
 2�
6���
)%2��"�� �
� �������( ����0 ���4� 
���������� ���� ��
�"
���%�� ���"/
��)
�� ��������2� 
�
���
� ���� ) ���( ��� 1�
 6 ��-�� ����� ) � �� 1��/
�����-�
�0�� �
�%# ��7����

h��3% �������0 1�� ������2�� �������( ����"����( ��� �
��� ��������/
�
�%# ��7���� 8��( �� ����"�����7( ���3������0 6 ��-�# t1+ε( t ≥ 0 ) � ��



��

��� ε → +0� 8�� ����#��)� 6 ��-�# �
)������� ��������� � 3���������� �

�73�� �������� �����)
��� � �� �� )���� �
�"
� 6 ��-�� �
�
���� ) � ��
��� t� `��)�"��( ��� ���0�� ε( ��� ���0�� ��7���� '��� "�� ���)����0(
��� 6 ��-�� x(t) ����� ) � �� ��4�� 7 ���3������0( ���0�� "
��%# ��7���
���0�� �73�2� ��������2��

`3�
��� )���
���( ��� �
�  "
���0 )%������0 ")
 ����
 �
�������� ,�*.
) �)��� )�"� ���0�� ����� ( ��� �������%� ����2�
�% ,�� �� )��.( )��7�
7/
e�� 6 ��-�7 erf()( )%�
�
7��� ����� ��� ��� '
 ����0�� �
2� 1�� )������
�
�
���)
����� p��� 3% 6 ��-�� erf() �� 3%�
  �� �� ���
( �� �
��������
,�*. )�)�� 3% �� 3%��� a
��2� ��"
 ������% ����0 ��"��( 4��� � ����
�% )
�����
� �� ,��� c�d( c��( ����d.�

� "
���� �� �
�  �
� ������� �
�
���# )
��
�� ) )�"� ��
����"
 ,��.(
4��� 1�� �3�������0��)� �� �)������ ���34�"��%�� � c��( ����d ���)�"�� ���/
��� 6 ��-��( �� ���7e�# 
�������������2� �
�������� ) f1������
��%4g
,����  �� ��)����%4. 6 ��-��4�

���)�
e
��0 � ����)��# -��� "
���# �
3��% o ���"�����0 �����3 �
/
"����2� )%�������� �����
��% ��
�� �
 � �����)��0��# � ��������� ���#
�������07( ���4�"���� �����
�0( ��� ��"% ,�*. � ,��. "�� 1��2� �����2�"�%�

&�" ,�*. 4��� � �4�"����( �� �� ����� 3%�0 )%������ "
��� ) ��)����%4
6 ��-��4 �� )%�� �
�
��%� ������
�� � ��"%( )4�"�e�� ) ��" ,��.( �
�/
4�"����n � ��� ���
��# ���)�"��# )���������� �-����0 ��3������%� ����%�

a�� �� ����� �������� )%�������%# ������� ��"
 ,�*. "�� ��
���
-��
��
��������# �"�� ��
�� �
 ,��� c�*d. � ��
e�)
��� ") 4 
�������������4
�
�������#�

q
�����( ��� ����" ��
e�)
��� �
�����%4 
�������������4 �
�������#
�"��2� � ��2� �� ������� �
��� ��)����� ��" �
�)
���� f��2�
�����g ���
������� ���2 ����%4 ��
�)%4 �
"
��

&
�������� ����
����)
�� 7 ��
�) 7 �
"
� ,b.� `�
 ����"����
 �
 ��/
���)
�� [0, 1/C2 ≈ 2.085409]( 
 ��" a�#���
 ,+.( ) ������� ��"��
)���
 )�/
�����
 s = 1( 3%���� �4�"���� )� ��� 1��2� �����)
�
�

���0��� x0 = 2( � 	** ��166�-�����) ,l. ��"
 a�#���
 2������6��#
6 ��-�� y(x)� a�2"
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x(t0) = x0 = 2, x′(t0) = 1/y′(x0) ≈ −0.58683143170. ,�	.
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